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1. In the formula V = 1/3Bh, what does 'B' represent?
A. Base area
B. Height
C. Diameter
D. Length

2. If the probability of rain is 0.2, what is the probability of no
rain?

A. 0.2
B. 0.5
C.0.8
D. 1.0

3. What is a chord in relation to a circle?
A. A line that runs through the center of the circle
B. A segment whose endpoints lie on the circle
C. A line that extends beyond the circle
D. A point in the center of the circle

4. What is the sum of angles that are classified as
supplementary?

A. 360 degrees

B. 90 degrees

C. 180 degrees

D. 180 and 360 degrees

5. What does dilation refer to in geometry?
A. Making a shape smaller
B. A transformation by sliding a figure
C. Enlarging a shape
D. A transformation by flipping a figure

6. Solve for p: 5p + 15 = 45.
A. 4
B.5
C.6
D.7
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7. Which term describes a sequence where each term follows
a certain pattern or rule?

A. Arithmetic sequence
B. Random sequence
C. Ordered sequence
D. Terms

8. If the height of a triangular pyramid is doubled, what effect
does this have on its volume?

A. The volume remains the same
B. The volume doubles

C. The volume triples

D. The volume quadruples

9. What does the term 'identity’ refer to in mathematics?
A. The process of finding the value of a variable
B. The product of any number and zero
C. The product of any number and one
D. The sum of two numbers

10. In the Pythagorean Theorem a? + b? = ¢2, what doa and b
represent?

A. The length of the base and height of a triangle

B. The lengths of the two shorter sides of a right triangle
C. The total angles of a triangle

D. The lengths of the two longest sides of any triangle

Sample study guide. Visit https://saxonmathcourse3.examzify.com for the full version



Answers
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1. A
2.C
3.B
4. C
5.C
6.C
7.D
8.B
9.C
10. B
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Explanations
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1. In the formula V = 1/3Bh, what does 'B' represent?
A. Base area
B. Height
C. Diameter
D. Length

In the formula V = 1/3Bh, 'B' represents the base area of the shape in question, typically
a cone or pyramid. The formula itself is used to calculate the volume of these
three-dimensional figures. In this context, 'B' refers specifically to the area of the base
shape from which the volume is derived. For a cone, this would be the area of the circular
base, calculated using the formula \( \pi r~2\), where r is the radius. For a pyramid, 'B’
would correspond to the area of the polygonal base—depending on the type of pyramid,
this could be calculated using various area formulas (e.g., for a square, it’'s \(s™2),
where s is the length of a side). The volume formula demonstrates that the overall
volume is directly related to the area of the base and the height of the figure. By taking
one-third of the product of the base area and the height, it reflects how the volume scales
with these dimensions in a conical or pyramidal shape.

2. If the probability of rain is 0.2, what is the probability of no
rain?

A. 0.2
B. 0.5
C.0.8
D. 1.0

To determine the probability of no rain when the probability of rain is given as 0.2, you
can use the fundamental principle of probability that states the total probability for all
possible outcomes must equal 1. If the probability of rain is 0.2, this means there is a
20% chance of rain occurring. Since the only other possible outcome is no rain, the
probability of no rain can be calculated by subtracting the probability of rain from 1.
This gives us the calculation: 1 - 0.2 = 0.8 This result signifies that there’s an 80%
chance of no rain, thus confirming that the correct answer is indeed 0.8. The probability
of no rain reflects the complement of the probability of rain, encapsulating all scenarios
where rain does not occur.
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3. What is a chord in relation to a circle?
A. A line that runs through the center of the circle
B. A segment whose endpoints lie on the circle
C. A line that extends beyond the circle
D. A point in the center of the circle

A chord is defined as a line segment whose endpoints are both located on the
circumference of the circle. This means that it connects two points on the circle but does
not necessarily pass through the center. The concept of a chord is fundamental in circle
geometry as it helps to establish various properties related to arcs, angles, and other
segments within the circle. The other choices do not accurately describe what a chord is.
For instance, a line that runs through the center of the circle is known as a diameter,
while a line that extends beyond the circle is simply a line and does not have the specific
properties of a chord. Lastly, a point in the center of the circle refers to the center itself
and does not involve any segment, thus it is not a chord. Understanding the properties

and definitions of these terms helps clarify the concept of a chord in the context of a
circle.

4. What is the sum of angles that are classified as
supplementary?

A. 360 degrees

B. 90 degrees

C. 180 degrees

D. 180 and 360 degrees

Supplementary angles are defined as two angles whose measures add up to exactly 180
degrees. This classification is a fundamental concept in geometry, emphasizing the
relationship between angles when they are combined. For example, if one angle
measures 120 degrees, the supplementary angle would measure 60 degrees, since 120 +
60 = 180. Thus, the sum of any such pair of angles will consistently amount to 180
degrees, identifying them as supplementary. The other provided options do not align
with the definition of supplementary angles. The sum of 360 degrees pertains to angles
that make a full rotation, 90 degrees corresponds to complementary angles, and the
combination of 180 and 360 degrees introduces angles that do not directly relate to the
strict definition of supplementary angles. Hence, the only option that correctly reflects
the sum of supplementary angles is 180 degrees.
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5. What does dilation refer to in geometry?
A. Making a shape smaller
B. A transformation by sliding a figure

C. Enlarging a shape
D. A transformation by flipping a figure

Dilation in geometry specifically refers to a transformation that alters the size of a figure
while maintaining its shape. During this process, every point of the original figure is
moved along a line that runs from a fixed point, known as the center of dilation, either
closer to or farther away from that center. When dilation leads to an increase in size, it is
known as enlarging a shape. The scale factor determines how much the shape will
increase or decrease in size, but the proportional relationships and angles within the
shape remain unchanged. While some other transformations, such as translations or
reflections, involve rearranging positions or flipping figures, these do not specifically
alter the size of the shape, which is why they are not related to the concept of dilation.

6. Solve for p: 5p + 15 = 45.
A. 4
B.5
C.6
D. 7

To solve the equation \(5p + 15 = 45)\), the first step is to isolate the term with \(p\). This
can be accomplished by subtracting 15 from both sides of the equation. Doing this
gives: \[ 5p + 15 - 15 = 45 - 15 \] which simplifies to: \[ 5p = 30 \] Next, to solve for
\(p\), divide both sides by 5: \[ p = \frac{30}{5} \] This results in: \[ p = 6 \] This
value, 6, is correct because when substituting \(p = 6\) back into the original equation, it
checks out: \[ 5(6) + 15 = 30 + 15 = 45 \] As such, the solution satisfies the original
equation, confirming that \(p = 6\) is indeed the correct answer.

7. Which term describes a sequence where each term follows
a certain pattern or rule?

A. Arithmetic sequence
B. Random sequence
C. Ordered sequence
D. Terms

The term that accurately describes a sequence where each term follows a certain pattern
or rule is the concept of a sequence itself, which can be referred to as a term. A sequence
is a set of numbers or objects arranged in a specific order according to a defined rule or
pattern. This ensures that each term in the sequence can be derived from its preceding
terms based on a specific formula or relationship. In the context of mathematics,
various types of sequences exist, such as arithmetic sequences and geometric sequences,
both of which have distinct patterns. However, the term "sequence" encompasses all
types of ordered collections where terms follow established rules. Hence, the answer
highlights the foundational concept of sequences in mathematics.
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8. If the height of a triangular pyramid is doubled, what effect
does this have on its volume?

A. The volume remains the same
B. The volume doubles

C. The volume triples

D. The volume quadruples

The correct answer is that the volume of the triangular pyramid doubles when the height
is doubled. The formula for the volume of a triangular pyramid is given by: \[ V =
\frac{1}{3} \times B \times h \] where \( V) is the volume, \( B ) is the area of the base,
and \( h) is the height of the pyramid. When the height \( h \) is doubled, the new
height becomes \( 2h \). Substituting this into the volume formula gives: \[
V_{\text{new}} = \frac{1}{3} \times B \times (2h) = \frac{2}{3} \times B \times h \] This
shows that the new volume is twice the original volume. Therefore, the volume increases
in a linear relationship with the height, meaning that if the height is doubled, the volume
also doubles. This understanding of the mathematical relationship illustrates why the
volume triples, quadruples, or remains the same does not apply in this scenario. The
direct correlation between height and volume reinforces the concept that altering the
height alone generates a proportional increase in volume.

9. What does the term ‘identity' refer to in mathematics?
A. The process of finding the value of a variable
B. The product of any number and zero

C. The product of any number and one
D. The sum of two numbers

In mathematics, the term 'identity’ specifically refers to a fundamental property that
holds true for the operations of addition and multiplication. In this context, when we talk
about the product of any number and one, we are referring to the multiplicative identity.
This means that multiplying any number by one will yield the original number itself. For
instance, if you multiply 5 by 1, the result is 5, and this holds true for any number. The
significance of this property is that it establishes a baseline or reference in
multiplication, much like how adding zero to any number does not change the original
number, which relates to the additive identity. Both the multiplicative identity (1) and
the additive identity (0) are crucial concepts in understanding basic arithmetic and
algebra. Thus, the correct choice accurately reflects the concept of identity in
multiplication.
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10. In the Pythagorean Theorem a2 + b? = ¢2, what doa and b
represent?

A. The length of the base and height of a triangle
B. The lengths of the two shorter sides of a right triangle

C. The total angles of a triangle
D. The lengths of the two longest sides of any triangle

In the context of the Pythagorean Theorem, the variables 'a' and 'b' specifically represent
the lengths of the two shorter sides of a right triangle. The theorem establishes a
fundamental relationship among the three sides of a right triangle, indicating that the
square of the length of the hypotenuse (the side opposite the right angle, denoted as ‘c’)
is equal to the sum of the squares of the lengths of the other two sides. This
relationship is crucial because it allows for the calculation of one side of the triangle if
the lengths of the other two sides are known. Therefore, 'a’' and 'b,’' being the two shorter
sides, are essential in forming this equation and are always associated with the right
triangle's geometrical properties. In a right triangle, the two sides that form the right
angle are perpendicular to each other, which is why their lengths are utilized in the
theorem to establish the relationship with the hypotenuse. Other options presented do
not accurately reflect the roles of 'a' and 'b' within the theorem. For instance, while the
base and height of a triangle are important in calculating area, they do not necessarily
correlate with the Pythagorean theorem unless we're discussing a right triangle
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